SF6EIOHITETER

SF6EIAITETTER

FRATHE if, FRATHEE %
A | S| B m =
HERRNOITE Zof o HERBENOITE oM o
peTTES EE HTEENE T 17:15 SE2 TA17:30 A7 AR £716:45 =& :00
1] & HRHEa—wV IAVARENTRRS | | 1| & |3FEITAE LHLOSEWEFEAR (16:00235%2) |
SSWaketz HALDDEN
RIS T A
2 Oof 2| &
HOB R ERALPM
3| & R ol 3 & (e B)
P RR T T 4T AM
4 & “ ol 4 A UREIKE) o
FEEOL
5| + 5| k (@]
6 | H 6| /K O
B AR Bk BEPM
71 A o 7| K O
EERBEEE R #R /N 282 (13:30ADSA— /L)
8 | k O 8| & O
AR (1~50R)
9 | K& Ol 9| k
FET AN ER G R R B SR EPM
10| & 10| A
AT = NI T—RIR FEEYCENHE B 2 (GIR3-3%5°7) AT —=NHT ' T—RIR
11| & O 11| A O
W5 SRR TR (fRtbR oo/ ) SSWRkE
12 | £+ 12| & ERSKEEES ES @)
IR T ARG By 5 1 ~11/21
13| B 13| Kk O
(RE—YDR) HE R EOREPM
WA < S B 1k (~10/17) 14} & ©
F2lalER B S (Fk)
15| & ol15 & " o
T H AR (4543 X AMRF N L AT G SR ke B
16 | & iurﬁ-%@ 112:40) 16| -
AT 4T ha— LT
T xl~(50/u\x3m é“ﬂ & T12:05)
17| & 17| H
R AR (5043 X 3FR 5154 T 12:00)
18| & %rs?ﬁﬁwﬁo%é]r 16:45?71& O| 18| A wERER
S H AR (4557 \MBEA WL
19| & 19] k& A T 12:40)
IR T A (504 X 28R+ 304y X 2
20| A 20 k| _ IR T 12:25)
AT AT A A — )T —
E— Ay U — 8 2 (16:001 1k T) |BRIEEIHE T 17:00 582 TFR17:15 IR T A (5043 X 1R+ 304y X 3[R
21| A Ol 21| & FASHIEHE T12:05)
3%2%!@#La‘r%m %gggxb(sgz%Tx 3R %r#gﬁ?m:oo)
) SSW3keAR 4 |EBTEEN16:304 T 16:4558 4 TAKX
22 | k O 22| & e oy 7t (@)
23 | & O] 23| = (EFB#HDOR)
BB MR ERKPM AT 4T A M=) T —
24 | K Of24| H
1HAMETr 77— (5-61)) AT—= NI T — R E—AAy eV —FE R (16:00Mi 57 [A7— 7T — KA
25 | & O 25| A O
ERETRE RS TR 2 — SSWA
26 | + 26| & O
AF 4T A ha— L7 — FES T Ry — 4%
27| B (ZZADBNFEES) 27| 7k O
S FR 22T H (i (455 X 6FR) R R CUEFRER D DT90) F—T AT — v HoB R Bk PM
98 | B | KRERL B T 15:00 {HiERL O | 28| & |(I4F1HR, 2430, 34750H) SRR R o
AR 77— (5-6[R)
SALHER 2 3FEAE= L 77— )L (Fi) EZVEIE =S FEE— V15400 NEEE
29 | |15 108 ER T / EEDHD ol 29| & e e A o)
T R A —4%
30 | K& O30 &
31| K O3l XK O




